## Anx B – Work Completion Report

		Date:	Date:			Date:		1 DIECHE	Date:
			Sign:			Sign:		V	Sign: A
	III	Approved by Director/E&D team	Approved by			Approved by QS team		Approved by project and reserve	Approved b
									Remarks:
80,182	or work done	Total amount including taxes for work done	Total amount i						
12,231	18.00%								
67,951	Total								
0									10
									9
									∞
									7
									6
									5
									4
1,014	13		sft	78.00 sft		Under club house to stop acess to old stores	Under club house t		ω
5,408	13		sft	416.00		cellar brick work	Under E block sub cellar brick work		2
61,529	13		sft	4733.00 sft	e way	Brick works Sub cellar brick for swimming pool drive way	Brick works Sub co	CA	_
Amount	Rate	Rate ID	Units	Qty		Details of work		Unit/floor no	Sl. No.
		red?	GST bill required?			Contractor bill no.		,	WO date
			WO issued?			Work done to date	120 4046.	2025	WO no.
		D.	M-codex bill ID.			Work done from date		CA	Block no.
10-12-2025		ģ	Dt. site bills reg.		Civil	Nature of work		GMR	Project/site
4256		ls reg.	Sl. No. site bills reg.		Prasad choudary	Name of contractor		MRMLLP	Company

Notes: 1. This sheet replace installation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount or bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include - Soham, Ananch (EG) (17 + G) (20), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK), 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent by courier).

ESTIN	IATE SHEET						
Compa	ny Name:	MRMLLP		Approved by:			
Project		GMR					
Work I	Description:	Sub Cellar brick work				a Para da	
Contrac	etor:	Prasad choudary *					
Prepare	d By:	Anil.M					
Date:		01.12.2025 *	2795				
S No.	Nem Head«	Item Description	Quantity	Units	Rate	Amount	Remarks
1	Brick work - 4"	Sub Cellar brick work For swimming pool drive way	4733	Sft	13	61,529	,
2		Under E-block Sub cellar brick work	416	Sft	13	5,408	
3		Under Clubhouse to stop acces to old stores	78	Sft	13	1,014	
			Total Amount excl. GST			67,951	



MEAS	UREMENT SHEET				سليسا				
Compai	y Name:	MRMLLP			Approved	by:		+	
Project		GMR							
Work I	Description:	Sub Cellar brick work				-			
Contrac	etor:	Prasad choudary							
Prepare	d By:	Anil.M				-	-		
Date:		01.12.2025							
			Length	Width	Height	No's	Quantity	Units	Item Head Total
S No.	Item Head	Item Description	Dengua						
1	Brick work - 4"	Sub Cellar brick work For swimming pool drive way	56.00	1.00	12.25	1.00	686.00	Sft	
100	DIRK WOLK - 4	San Column San 1922 St. San	78.00	1.00	12.25	1.00	955.50	Sft	
			40.00	1.00	12.25	1.00	490.00	Sft	
			50.00	1.0	0 12.25	1.00	612.50	Sft	
-			27,00		12.25	1.00	330.75	Sft	
-1	30 5	The state of the s	47,00		0 8.00	1.00	376.00	Sfit	
-		The second secon	50.00	1.0	0 8.00	1,00	400,00	Sft	
-			32.00	1,0	0 8.00	1.00	256.00	Sft	
			20.00	1.0	8.0	1.0	0 160.00	O Sfit	
-			38.00	1.0	0 12.2	5 1.0	0 465.5	0 Sft	
					Total	Qty in s	ft 4,732.2	5 Sft	
				Y.1,					
		Under E-block Sub cellar brick work	2.0	0 1.	00 13.0	0 16.0	00 416.0	00 Sft	
2		Dilder E-dilder State Central Street Print			1			7 100	
. 1		Under Clubhouse to stop acces to old stores	6.0	00 1	.00   13.	00 t.	00 78	.00 Sfi	
3		Citate Citations to surp acces to dia stores							
2						-	-	-	
			_				-	-	

